
Dividing Money (D)

Calculate each quotient.

1. 84 ) $1911.00 2. 50 ) $4450.00 3. 96 ) $2712.00

4. 29 ) $1740.00 5. 10 ) $300.00 6. 51 ) $1377.00

7. 57 ) $1838.25 8. 22 ) $2106.50 9. 13 ) $851.50

10. If 64 identical teddy bears cost $2784.00, how much did each teddy bear

cost?
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Dividing Money (D) Answers

Calculate each quotient.

1. 84 ) $1911.00
$ 22.75

−$1680.00

$231.00
−$168.00

$63.00
−$58.80

$4.20
−$4.20

$0.00

2. 50 ) $4450.00
$ 89.00

−$4000.00

$450.00
−$450.00

$0.00

3. 96 ) $2712.00
$ 28.25

−$1920.00

$792.00
−$768.00

$24.00
−$19.20

$4.80
−$4.80

$0.00

4. 29 ) $1740.00
$ 60.00

−$1740.00

$0.00

5. 10 ) $300.00
$ 30.00

−$300.00

$0.00

6. 51 ) $1377.00
$ 27.00

−$1020.00

$357.00
−$357.00

$0.00

7. 57 ) $1838.25
$ 32.25

−$1710.00

$128.25
−$114.00

$14.25
−$11.40

$2.85
−$2.85

$0.00

8. 22 ) $2106.50
$ 95.75

−$1980.00

$126.50
−$110.00

$16.50
−$15.40

$1.10
−$1.10

$0.00

9. 13 ) $851.50
$ 65.50

−$780.00

$71.50
−$65.00

$6.50
−$6.50

$0.00

10. If 64 identical teddy bears cost $2784.00, how much did each teddy bear

cost? $43.50
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